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Q.1. Choose the best answer:

I. The arrows show the movement of salts into a cell. Which describes the movement of the salts?
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 A active transport against the concentration gradient

 B active transport down the concentration gradient 

 C diffusion against the concentration gradient 

 D diffusion down the concentration gradient

II. The diagram shows a section through a leaf.

Which is an organ and which is a tissue?
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III. Which process may require energy from respiration?

 A movement of carbon dioxide into the alveoli

 B movement of oxygen into red blood cells

 C uptake of glucose by cells in the villi 

 D uptake of water by root hair cells
IV. What causes water to enter plant roots from the soil?

   A Water potential in root hairs and the soil is equal. 

   B Water potential in root hairs and xylem is equal.

   C Water potential in root hairs is higher than in the soil.

   D Water potential in root hairs is lower than in the soil.

Q.2. Describe how the following processes differ from each other:
   (a) Diffusion and active transport

  (b)Diffusion and Osmosis

Q.3. The diagram shows the cell membrane of an animal and a plant cell.
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 (a) On the diagram, draw and label

 (i) One other structural feature that is found in both cells,

 (ii)Two features found in a plant cell but not in an animal cell.

Q.4. Explain why?

a) In osmosis only water particles move.

b) Active transport takes place only in living cells.

c) Plant cells have cell wall.

d) Red blood cells don’t have nucleus.

e) Large surface area increases the rate of diffusion.
